C:# Calcul d'un Cote Manquant (Aire donnée)

Nom:
Déterminez lavaleur de'L". Réponses
1) Aire=300° 2) Aire= 2407 3) Aire=56U°
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Calcul d'un Coté Manquant (Aire donnée) Nom: Clé
Déterminez lavaleur de'L". Réponses
1) Aire=300° 2) Aire=240° 3) Aire=56U° 3
10 4 7 1
3 B
10 b 6 B 8 2 6
4
: s 8
4, 5
4) Aire= 3507 5 Aire=16U° 6) Aire=81U° 4
7 4 9 5.
4
E 5 4 . . 6. 9
= 4
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9
8 8
7)  Aire= 90U 8) Aire=80u 9) Aire=270° 9
10 8 9 .
3 3 3
10.
9 B 10 10 .
11. 3
10 B
12 2
10) Aire=32u° 11) Aire= 277 12) Aire= 1407
4 9 2 13 2
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8 B o) 7 7 14. 9
- D 15, 3
13) Aire= 200 14)  Aire= 6307 15) Aire= 180
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